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Displacement Transmissibility X/Y
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Displacement Transmissibility Phase

3 1 1 ] | | || |
25+ -
I ey T |
)
c
o
SEFE 000 B et =
7 O O - U -~ "
o it =
1 e zeta =.05 H
zeta=.1
05 | kel 0 |[TeeEEES zela= 2
) ———-zeta=.5
————— zeta =1
0 A | 1 1
0 0.5 1 1.5 2 2.5 3 3.5 4

frequency ratio r



1300 i 9 33 43l 5 >

iy 4y adly JWasl 9,0

Ui F=k(x-y)+ec(x-y)

l s (S > aloles 4y axgi b
c(x=y) k(x—y)+c(t—3)=—ms

k(x—y)
o210 oy o aibly Jasl (9,5 gl a0 Y

Force Transmitted to Mass = —mx

¥, (1) =-0’Xsin(wr—¢) — F =mao’ X sin(ot —¢)



1300 i 9 33 43l 5 >

iy 4y adly JWasl 9,0

) 5 i
T _ .2 1+(2{7)
Y =7 2 \2 2 . s
) (1 — ) + (2(_",-) Force Transmitted - FUKY - Base Excitation
=" 6 T 1 I T L 1 " 1
zeta =.05
5l zeta=0.1
""""" zeta=0.2
—=—=—-zeta=0.5 |
a4t =riezetar=1  F
= =3
X 3 -
z
2L ........................... -
.//
1} A »
0 1 1 1 1 1 1
0 1 1.5 2 2.5 3 3.5 4

frequency ratio r



1300 i 9 33 43l 5 >

=?
)\V/\
&Jy(r) Ysinwt
Z=X—-Yy

2LFx =mx
—kz—cz=mx=m(Z+ )

mz +cz +kz =—-my

y=Ysin(ort)

ol 4 S oy (o (ol

‘ |
c(i— )

k(x—y)

mz + ¢z + k= = me’Y sin (o)



1300 i 9 33 43l 5 >

ol 4 S oy (o (ol
- . Yy
mzZ +cZ +kz =ma7Y si(or)

R = o'l sin(ar —¢)

[(k —me’ )2 +(co) :l

2r
2, ()= Zsin(or - ) 4 :“‘“_1[ e J

Z me? r

ey o] [ e



1300 i 9 33 43l 5 >

ol 4 S oy (o (ol

Displacement Transmissibility -R elative Motion (Z/Y)
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Displacement Transmissibility -Relative Motion Phase
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